Efficiency vs hit

o 10
£
1= .I
osk-- A1 || |
‘ 0 0
°46— 20 30 40 50 60 70 80

TP hits

—=— DQM_TT__mkFit-DQM_original-0
—— DQM_TT__mKFit-DQM_mod-127
[Efficienc| —— DQM_TT__mKFit-DQM_mod_updated-127

0 0.05¢

Ratio

20 22 24
TP layers

6 8 10 12 14

Efficiency vs pixel layer

0.0
018|
016
014
.012

oefficiengy vs pixgl layel
o SFE&T
o

.008
0.006
0.004
002

o

1.0

Ratio

0 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

0 0.02p
018
016
014
012

o efficiencyys 3D laye
g

0 2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


